E-Z-GO TXT Brush Guard
Installation Instructions
Black- Part# 6275
Gunmetal- Part# 7068

Stain

less- Part# 6275-S

Hardware Kit
5/16 x 2 % Bolts-2
5/16 x 2 Bolts-2
5/16 Washers-4

% Spacers-2

%" Spacers-2

A

Insta

lways. wean approprioie
ege protection!
llation Instructions:

1.

4.

S& "dH'KiEZ“

To make this installation easy you will need a person to hold the roof. If you have a roof on your cart,
remove the bolts and spacers from the front struts of the roof and have someone hold the roof in place.
If you do not have someone available
use a broom handle to prop up the roof.
If you have a roof you can either re-use
the stock hardware or use the supplied
hardware. If you do not have a roof
you will need to use the complete
hardware kit. The brush guard is
designed to protect the factory light bar. If installing cut-in headlights, slightly oversize the holes in
both mounts. This will allow you to drop the brush guard to center the lights.

If you do not have a top use the supplied 5/16 x 2 %2 bolts, washers and 1/2” spacers to mount the
bottom of the brush guard to the stock roof mount holes as shown in Figure 1. If you do have a top on
your car use the stock bolts and washer spacers and mount the brush guard to the outside of the roof
mount and to the bottom stock roof mounting holes.

If you do not have a top use the supplied 5/16 x 2” bolts, washers, & %4 spacers, mount the top of the
brush guard mounts to the stock roof mount holes as shown in Figure 1. If you do have a top on your
car use the stock bolts and spacers and mount the brush guard to the outside of the roof struts and to the
stock roof mounting holes.

Securely tighten all bolts.

,_,n"r K]
866-405-253 7
www.jakesliftkits.com




